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All 4 course units will be used to calculate the year 2
contribution: a weighting of 1 will be used for the best 3 course
units while a weighting of 0.5 will be used for the other 1
course unit yielding an equivalent of 3.5 course units as
specified in the harmonised scheme.

All 4 course units will be used to calculate the year 3
contribution: a weighting of 1 will be used for the best 3 course
units while a weighting of 0.5 will be used for the other 1
course unit yielding an equivalent of 3.5 course units as
specified in the harmonised scheme.

In the fourth year all four course units will be weighted equally.

3.a) Progression from year 1 to year 2 requires 3.5 course units to be
passed;

b)
c)

d)

Progression from year 2 to year 3 requires 7.0 course units to be
passed;

For four year degrees, progression from year 3 to year 4 requires
11 course units to be passed.

In addition to the requirements above at 3. a, b and c), for students
progressing on MSci programmes, who first enter UCL in the
2013/14 academic session, the following progression rules apply:

A.

Year 2 to Year 3: A student will automatically progress who
has an overall weighted mark (i.e. weighted mean of years 1
+ 2) of 60% or greater, AND has a Year 2 weighted mean of
60% or greater.

Year 3 to Year 4: A student will automatically progress who
has an overall weighted mean over years 1, 2, and 3 of 60%
or greater, AND has a Year 3 weighted mean of 60% or
greater.

If a student satisfies the course unit requirements and any
other Faculty specific requirements but does not satisfy the
60% requirement, but has weighted means of 50% or greater,






original programme, with the exception that any restrictions on
necessary named course units will not be applied.






